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M =0 A O
(> | (=N} — —

=gl Co (e o/
Sl SHYR £HY =
SN B SRA(SIH) - MBAY - BAS 0 & 24 e
S (HMAXR) 2,410,000 = 1CH 2,410
ExOt2SE=R) 583,000 * 2CH 1,166
Ex(E2EHEHAX) 1,650,000 « 1CH 1,650
S (FHAXR 500) 880,000 » 6CH 5,280
- 0IEX 110,000 * 4CH 440
—AsSXHEINEEE & =2
77,000 * 70CH 5,390
—2&XNEE(Z.89)
400,000 = 328 * 13 12,800
—AENEHINERES
120,000 * 4904 = 23l 11,760
—HUYBHZ 14,999
s2(UE) 119,900 = 1CH 120
SE8(8¢) 110,000 * 1CH 110
SE(258) 110,000 * 13CH 1,430
S2(E58) 110,000 * 19CH 2,090
SE(UE) 335,000 * 2CH 670
SE(EE) 335,000 * 2CH 670
SE(AE) 264,000 » 5CH 1,320
- S 2(0E) 297,000 = 3CH 891
E2(5E) 594,000 » 4CH 2,376
-2 (AE) 165,000 * 10CH 1,650
Ex(ME C2LHEAL JIZS B5X112)
242,000 » 4CH 968
S (PHE X2 500) 330,000 » 6CH 1,980
- 0lEX 181,000 = 4CH 724
OA&EHI= Xl 9,160
-2z )8 FANES 5,000,000 5,000
—NXEFAES 1,000,000 23l 2,000
—ROIZHIA AR E (XD A)
180,000 = 12& 2,160
OXtgtd et 543,261
—-SE(HE) 14,855,000 = 1CH 14,855
—S8(58-2428) 8,294,000 = 1CH 8,294
—SE(HE- NS E, HRE)
7,064,000 = 13CH 91,832
—5E8(858-9428) 7,093,000 = 19CH 134,767
—SE(HE2EHA) 11,193,000  2CH 22,386
—SE8(Z8=28HA) 8,268,000 * 2CH 16,536
—SEH(AE-ANEE Z2E)
6,631,000 » 5CH 33,155
—32(HE-E28=%) 13,655,000 » 3CH 40,965
—SI2(SE-ALYE) 8,627,000 * 4CH 34,508
—SE(LE-AEE) 7,176,000 = 10CH 71,760
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col EeRo Sy BB ST (9l &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—S=XHE AR 10,247,000 = 1CH 10,247
—E2X(01S=2lxt) 7,961,000 = 2CH 15,922
—S=XOIIEtAE E) 6,862,000 * 7CH 48,034
202 (44| 4,320 4,320 0
01 S LHAObI 4,320 4,320 0
OZZXEIIA 0l
10,000 » 9H = 42 = 128 4,320
401 A& HIZ 2 CHHI 890,000 200,000 690,000
01 Al£Hl 890,000 200,000 690,000
OZX0X 2X 0h 850,000,000 850,000
OZEXOX AL (AAIEAH) 40,000,000 40,000
405 XHaHF S 823,000 351,000 472,000
01 AL =SZH=HI 823,000 351,000 472,000
OFTNSAIN(AED, BEHH AA-THA)
4,500,000 = 3CH 13,500
OFX=ADN(LEEEU-AR)
4,500,000 = 1CH 4,500
OHICI2EZZ M E (AH-HA) 3,000,000 = 1CH 3,000
OAEBRH (M I-4I7) 24,000,000 24,000
O=gssi(28,2As M2 -Ux)
80,000,000 » 2CH 160,000
OAg&sEH(2E-UH) 15,000,000 * 2CH 30,000
OZE&EH(MBU-4F7) 23,000,000 = 1CH 23,000
ot=sxsEXH(2&-AM) 37,000,000 = 2CH 74,000
OsExH(2E-UH) 32,000,000 = 1CH 32,000
Os2EH(1E,2&-UHM) 32,000,000 * 1CH 32,000
OFALTE(LFTN, 2 (2F)-0H)
75,000,000 = 1CH 75,000
OFATS(TNEZ 2 (HE)-UH)
60,000,000 = 1CH 60,000
OZLIEH (= -UHA) 26,000,000 = 1CH 26,000
Ost2 FAXNE(MEER2,8EU-417)
130,000,000 * 1CH 130,000
OstE2 HEIHIE &Z -4 7)
120,000,000 = 1CH 120,000
OSISEH(1E, 23 U-47)
16,000,000 * 1CH 16,000
SIHME &tE 107,220 95,280 11,940
201 L Et2FH| 67,500 74,240 26,740
01 AtR2tel 59,500 60,000 A500
Oget=gH| 39,300
—SARIZHME NEAM 7
10,000 * 2005 2,000




A Z M

HE: 30 MY O T P(UYUSTHEA/YBAHEH)
el AR T =2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—SAR) '11EE MREDA
20,000 = 120% 2,400
—ZSARIFAHZ LM TES(SUIIHA)
15,000,000 * 12/ 15,000
—GB(XE) =2 20,000 = 400A 8,000
—Z24A zel 130,000 * 505 6,500
—3lAMA FEl 2,000,000 2,000
—SHER 7Y 2,000,000 2,000
— Aty oARAE YALN2= 200,000 * 22 400
—S2H8EXN & sAEEE 22 1,000,000 1,000
Oo=2g=¢ 14,200
— At oe3sl =& 70,000 * 6F * 102 4,200
—Z2aHARE 2EaE 10,000
= 70,000 * 5& = 20« 7,000
=t 30,000 = 5& » 20 3,000
Ozl 6,000
—3AHYR 3,000,000 3,000
— AP R 3,000,000 3,000
02 =524 8,000 14,240 N6,240
OZ2Z22S<HA 5,000
—SH2ESRE WEESEER(2.89)
5,000,000 5,000
OAEEHI =X 3,000
—XNESEAN HEI| RAEF 2,000,000 2,000
—HAMMNEZOH RNE=> 1,000,000 1,000
202 O4H| 6,720 8,640 21,920
01 2O 6,720 8,640 21,920
OHL L 20,000 = 3& = 4 » 128 2,880
OHAHR 20,000 * 49 = 4 » 128 3,840
203 B R =& 3,000 3,000 0
03 Al =& H 2 =& 3,000 3,000 0
OH - Z& g2FH 3,000,000 3,000
206 T2 H| 10,000 0 10,000
01 X =l 10,000 0 10,000
OZMads=d NIS4E £ 10,000,000 10,000
207 20K Hl 20,000 7,000 13,000
02 & AHHEHI 20,000 7,000 13,000
OQHAEESHAIAE =5 20,000,000 20,000
THAMRIZ) (LB BB SN /U BN ) 1,560,675 1,836,444 A275,769
S 62,769
= 1,497,906
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H: Jjaerel (2
©el: BBR W

=3 AR e (9 E2
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
=35 &k 22| 1,560,675 1,836,444 N275,769
= 62,769
= 1,497,906
=SFMat 2tel 58,921 67,578 A8,657
& 58,921
101 el124d| 14,195 13,466 729
& 14,195
04 JI2ZtHZ22NHSE+ 14,195 13,466 729
O=FMa dariad z2tel L AE R At 14,195
-2 37,110 = 2% = 150 11,133
& 11,133
—F5=¢ 37,110 = 48= 1,782
& 1,782
—4U0EE = 12,915,000 * 9.905% 1,280
& 1,280
201 LBer23 | 35,239 44,578 29,339
= 35,239
01 AR 2teld| 28,239 44,578 A 16,339
Ogt=ZH| 23,239
—dZEIIe2 4,000,000 4,000
& 4,000
— S8 5,000,000 5,000
= 5,000
—AREZ 7Y 13,239,000 13,239
& 13,239
—2HIEAMNSEE 1,000,000 1,000
= 1,000
Oz 2| 5,000
— 27 MHE MEHZAL 2 2te] A2 R
OH A H| 5,000,000 5,000
& 5,000
02 E=2gHl 7,000 0 7,000
O332= & AMA 7,000
—2SMNAASHELRERS 7,000,000 7,000
& 7,000
202 Odl 9,487 9,534 AN4T
& 9,487
01 SLHA b 9,487 9,534 AN4T
ORI A58 U MHEA 22
9,487,000 9,487
& 9,487
AR 1,147,906 1,388,866 240,960
201 L EH2FH| 728,906 716,866 12,040
01 AR 2teld| 66,400 62,800 3,600
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X XH .
S Tt

oLk

=Dy

SN HB G (BH) - MRAY - BES B Hlm= 2
Oil &k o8
OA&EHI= Xl 131,800
—JIAHAIE 2 2t 20,000,000 20,000
— el ADAEA LR 10,000,000 10,000
—ZEAMN HEE ¥ R HBEEA
10,000,000 10,000
—HIIAld =222 30,000,000 30,000
—EAE A2 10,000,000 10,000
—JIAtCHO | ROIZHIAIAE =2
150,000 * 123 1,800
—Z8A Y BRA= |X22 50,000,000 50,000
206 i 2 bl 9,000 9,000 0
01 MHZ I 9,000 9,000 0
OFAEIIME 2 (HEF, JIXM S)
9,000,000 9,000
401 AlEHIZ 2 OHYI 410,000 663,000 A253,000
01 A& HI 410,000 663,000 A 253,000
OFAL HDY & MEZE HLHI| WA - EX
230,000,000 230,000
OARA SIS (0A)AE 22 SAHTIHA
) 40,000,000 40,000
OJEs SZ0Istd U SE3A
70,000,000 70,000
O=SH HFE2 TAIHEANE(HY) 2 89
70,000,000 70,000
SHMAE 2tel 120,000 280,000 A 160,000
201 LBr2 | 40,000 170,000 A 130,000
01 AR 2teld| 25,000 155,000 2 130,000
O t=ZH| 25,000
—SFMazte 25,000
Z28EI=r2 5,000,000 5,000
Edsr2 10,000,000 10,000
-z 5,000,000 5,000
20z 5,000,000 5,000
02 E=2ZHl 15,000 15,000 0
O332= & AMA 7,500
—SAMA sA(8IZ, JtAE )
7,500,000 7,500
OH 24l 7,500
—SAX sA(HEH S) 7,500,000 7,500
401 Al HIZL 2 0HYHI 50,000 80,000 230,000
01 A& HI 45,000 70,000 A25,000
O37 et el 45,000,000 45,000
03 Al& =01 5,000 10,000 25,000




A Z M

HE: HU B (LUDDHE/LUBT)
SERE ST T (el @R
_ _ MNuE o
SA-E . S(E) - MEAY - BES Abou Sl e =
OZ=Mat2tel 5,000
405 XtHakF S 30,000 30,000 0
01 MMME=ZHSH 30,000 30,000 0
O3=Mat 2e 30,000
SR 2el 3,848 0 3,848
= 3,848
201 L2 2,000 0 2,000
< 2,000
01 AR 2telH] 2,000 0 2,000
O= &l 2,000
~ERTA MEIEA ¥
= & 2,000
= 2,000
202 O4Hl 1,848 0 1,848
< 1,848
01 S LHAHbI 1,848 0 1,848
OERTHA AEHZAL 1,848
= 1,848
SAINAZSAIE e 230,000 100,000 130,000
401 Al EHIZL 2OhY| 230,000 100,000 130,000
01 Al Hl 230,000 100,000 130,000
OFA s 230,000,000 230,000
DEEN & 224 =X ,045,309 891,411 153,898
= 274,785
= 97,835
= 157,018
= 515,671
DEFN & Jse '8 171,254 115,333 55,921
= 54,315
= 25,081
= 91,858
2Aeldy 2L X 40,000 40,000 0
= 8,000
= 32,000
201 gEt24Ed| 40,000 40,000 0
S 8,000
= 32,000
01 AtR2tel 40,000 40,000 0
O HIE=ZZ2H 2F 40,000
< 8,000
a 32,000
FIZELMYH HYaH 60,000 30,000 30,000
= 12,000
= 48,000
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SN BHD
HE: DE=X U 22X =X SW(MEEX/=S)
CHol: AleiCH (S5l &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
= 97,635
= 65,796
2 263, 184
NAZSH L2l AL 6,300 13,000 26,700
201 YEr2gY| 700 1,400 AT00
01 AtR2t2IH] 700 1,400 AT00
O 294Y 700
— NEEIILS LSRG BT
70,000 * 58 * 23l 700
202 018 3,600 3,600 0
01 2UH0i bl 3,600 3,600 0
O YReIME 2L ET 0|
20,000 * 3% * 52 * 128 3,600
203 YR E=TY| 2,000 8,000 26,000
03 AIZ4=ZI @ = X | 2,000 8,000 6,000
O DNBEX ¥ 22UEANSH YREX
2,000,000 2,000
NEEE B EIETEES 440,940 471,465 £30,525
= 220,470
= 66, 141
2 154,329
101 Q1248 274,246 0 274,246
= 137,123
= 41,137
2 95,986
VPR EEPEERS 274,246 0 274,246
ONAZSH LXt2lAte 274,246,000 274,246
= 137,123
= 41,137
2 95,986
206 T 2 bl 117,534 0 117,534
= 58,767
= 17,630
2 4,137
01 T2t 117,534 0 117,534
ONHBSH LX2lAre 17,534,000 117,534
= 58,767
= 17,630
2 41,137
402 212X+ 01 & 49, 160 0 49, 160
= 24,580
= 7,374
2 17,206
01 AT=HF 49,160 0 49, 160
002019 SHAY 49, 160,000 49, 160




A Z M
HHM: =X Y 22X =X B (AMI=EX/8)

CHl: Al Ol CH (e
5 o SIEN
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Rz
= 24,580
[ 7,374
2 17,206
AITIE (AR - BADIQ/MATE - DE5H) 463,150 736,288 A273,138
= 43,700
= 419,450
HeHAI R Aa2el o 29 56, 150 67,950 A11,800
WeHAIZ 22l 2 |X24 56, 150 67,950 A 11,800
201 Lur2 | 11,400 8,400 3,000
02 222l 11,400 8,400 3,000
OBZRILMA 11,400
—EAWA RS BES 300,000 * 23| 600
—5UAT HIR3 600,000 * 122 7,200
—5ANE +ER3 300,000 * 122 3,600
307 212H0| & 24,750 29,550 A4,800
05 Q12913 24,750 29,550 4,800
ONBAIBABE T4 e
22,000,000 * 60/100 13,200
ODIRAZAMSE B4 9
1,500,000 * 70/100 1,050
OBBAZAES F4 9
15,000,000 * 70/100 10,500
401 A2 HIL 2O 20,000 30,000 210,000
01 Al& ] 20,000 30,000 10,000
O5LAE S E2(3MHL) 20,000,000 20,000
=401 4T XS 402,000 663,338 ~261,338
= 43,700
2 358,300
=401 L 44BN X 294,600 546,338 A251,738
201 YEr2gy| 13,000 14,855 A1,855
01 ALR 22l t] 3,000 3,560 A560
OgsragY| 3,000
—JIYRI B2 MF
20,000 * 755 * 2% 3,000
02 ZZ2H| 10,000 11,295 A1,295
OA&ZHI SN bl 10,000
—JIYES SHOIX RXSS 3,000,000 3,000
— AT B ALY (D1 S0SY) 2 B
7,000,000 7,000
202 01t 3,600 3,600 0
01 20l ] 3,600 3,600 0
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S ZH D
A AQAAS(AY - ZAIY/MATE - DT5)
X

chelr ZADIY HE X (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
PEFEE R EEEEESTT
20,000 » 398 « 52 = 128 3,600
306 £ 3 158,000 369,000 A211,000
01 &0 3 158,000 369,000 A 211,000
OB EREIIZ &3 (LI 243
o) 100,000
—=40|d 50,000,000 50,000
— 2430l 50,000,000 50,000
BIETSAIEXNEMH EH2 50,000,000 50,000
BIESAINEEHII= &%= 8,000,000 8,000
401 A& HIZ 2] 120,000 150,000 230,000
01 Al€Hl 120,000 150,000 A 30,000
ool =8AId X 120,000, 000 120,000
A2 JIgEE LAY 20,000 20,000 0
401 A& HIZ 2 CHYI 20,000 20,000 0
01 Al£HI 20,000 20,000 0
OL7AR2IILSZ A AL (REA) 20,000,000 20,000
272 JgEE HEAS (BX) 87,400 97,000 29,600
L= 43,700
i 43,700
402 QI2t X201 ™ 87,400 12,000 75,400
= 43,700
i 43,700
01 2ItAt=E X 87,400 12,000 75,400
OJIsAL B3 AHE 8 0I2) 15,400,000 15,400
= 7,700
= 7,700
OJIsAF BT AHERAY) 30,000,000 30,000
& 15,000
= 15,000
Ost& A B3 A(REls) 30,000,000 30,000
& 15,000
i 15,000
Ostad 2B A0 H2ANEA)
12,000,000 12,000
= 6,000
= 6,000
ANE7egad 5,000 5,000 0
SIEXNGFTUEMH EHS 5,000 5,000 0
306 £ 3 5,000 5,000 0
01 &0 3 5,000 5,000 0
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SN 2R
By NAAH BHS I8 T (MY - BAIIY/LE - S QU
SHol: XIWE0 o e CEERE]
. - . rSIEL =
SN -EHH . (B) - MPAY - BE2 o il b o HRE2
02 M AHH | 11,500 0 11,500
ONER JIYE o FOIE P2 T2y He
11,500,000 11,500
301 LB 20,000 20,000 0
12IIEEa= 20,000 20,000 0
OJNEAIZNER M8 EOE X2
20,000,000 20,000
405 XA+ S| 22,000 0 22,000
01 AL =SZFH=HI 22,000 0 22,000
O&3d A 2L 5,500,000 = 4CH 22,000
HE2AZUI(ZHM)(IIEHDIE) 174,579 165,321 9,258
Jl=2ZHI(Z M) 174,579 165,321 9,258
JI=&Hl 174,579 165,321 9,258
201 Lt Y] 49,408 42,420 6,988
01 AtR2telH 49,408 42,420 6,988
Oyt g 34,408
—ZABT T (A4)
25,300 » 30&tkt+ » 128 9,108
—AMNRES 7Y 4,000,000 4,000
—=SAMI EHFE 450,000 * 63l 2,700
—= Al 2 250,000 * 3CH * 23] 1,500
—HRE E4 P 200,000 * 8CH + 43] 6,400
~DRE AREE 7Y U 42
200,000  8CH 1,600
—2YTElH £ 2
400,000  3CH * 448 4,800
—FAX EH 2¢ 150,000 * 1CH * 23] 300
—#Z ML RO Y PLELEE BE S 7Y
2,000,000 2,000
—SANEELL S 2L 2,000,000 2,000
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SBEE=EEES Y 89,100 89,100 0
Oz 52,800,000 52,800
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SN I SRI(S) - NRAY - B 0fl b Soe B RS2

O S 36,300,000 36,300

04 EM2I TR 4,380 4,380 0
ORM2IYEF=LH 365,000 = 128 4,380

405 KtatE =S| 3,179 909 2,270

01 XML EEHSHI 3,179 909 2,270
O2l &t 180,000 * 5K 900
O2MMIEII (LRIl HE) 880,000  1CH 880
OU X Ettliet(LXieldlE) 400,000 * 1CH 400
O (LXteldE) 299,000 * 1CH 299
OTV(L XteldH) 700,000 = 1CH 700
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